The Webster National Bank, a small Midwestern bank is reviewing its service charges and interest paying policies on checking accounts.  The bank presently has a total of $5000 checking accounts.  The bank has found that the average daily balances on all of its personal checking accounts is $550 with a standard deviation of $150.  In addition, the average daily balances have been found to be normally distributed.  Listed below are 20 randomly selected accounts.
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1. Determine the mean average balance based upon the sample data.

….okay, so adding them up and dividing, I got $558, which I’m assuming is correct?
2. If you were to draw another random sample of 20 observations from the same population, what is the probability that you would find a larger sample mean than the value you calculated in question 1?

3. Webster National Bank conducted some analysis that reveals that approximately 5 percent of its accounts have an average daily balance below $304.  Based upon this information, in a randomly drawn sample of 2,000 accounts, what percentage of accounts could be expected to have an average daily balance below $304?
4. Based upon the population data, what percentage of customers carry average daily balances above $800?

5. Based upon the population data, what is the daily balance level that you would expect only 25 percent of the customers to exceed?

6. Based upon the population data, what percentage of customers carry average daily balances blow $200?

7. Based upon the population data, what percentage of customers carry average daily balances between $200 and $700?

8. Webster National Bank has conducted some analysis in consideration of invoking minimum balance requirements because some of its clients maintain unprofitable account balances.  If Webster National Bank is considering a minimum account balance of $127, how many customers would be expected to have a balance below this value?
